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QUESTION 1

Your customer wants to create a component for maintenance that does not allow physical inventory. Which material
type must you use?

A. Spare parts (ERSA)

B. Maintenance assembly (IBAU)
C. Non-valuated materials (UNBW)
D. Operating supplies (HIBE)

Correct Answer: B

QUESTION 2

What does the serial number profile control? Please choose the correct answer. Response:
A. Whether a master batch is used for a serial number

B. Whether split valuation is used to describe the value of an individual part

C. Whether serial numbers must be assigned for a business transaction

D. Whether an individual part is assigned to a special stock

Correct Answer: C

QUESTION 3

In order costing, what is the allocation structure used for? Please choose the correct answer. Response:
A. To provide a hierarchy structure for posting costs to the general ledger

B. To provide a structure to summarize postings across cost elements

C. To determine the cost element for debit to the order and credit from the order

D. To determine the overhead costs that need to be applied to each cost element

Correct Answer: C

QUESTION 4
How many time-based cycles can you use in a multiple-counter maintenance plan?

A. Three
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B. Zero
C. Two
D. One

Correct Answer: D

QUESTION 5

A maintenance work order has external processing. The planning plant and maintenance plant have different
addresses. A purchase requisition is generated from a maintenance order. With standard delivered SAP Customizing,
which address is the default delivery address in the purchase requisition?

A. Work center

B. Storage location

C. Planning plant

D. Maintenance plant

Correct Answer: C
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